AlFHBRIBIESRNERFTESSER

SH4FE HESESTE (RTSED)
(81 : M)
RHBAR
BRE =N RN PRI | EEERE EEELE | SEERELe 7518 ZOMERR —gRE
BIRE EERED
> EXORR (1) mazspE
= EEREIAEEER HEHOD 9600 0600| 9600
ISR R K RUFEER A b w OV RI XY B BlIFTH 195,790 134,890 60,900 60,900
e BRI 5 IS
IKEEZE BETEERREEE R 83,904 78660 5,200 5,200 44
(2) #B®Bhm% ZILRBBESRIXIRBE AlET 102,000 50,000 30,000 22,000 22,000
BRSSO R SRR BB 8719 4360 4300| 4300 59
IKEYHACESMEEIRE S AlET 44,802 35842 8,900 8,900 60
BRI Bl 1958 1900| 1900 58
(3) BEER{CHER
s ExmsERRtREER HES DB 3029 1514|  1400| 1400 105 10
(4) HEELORR
MTHER FENEYY—HRERSEES AR nAR 13293 13200 13200 o3
(5) mHRFEH
6) mEORE
7 B
Z0fth [SEB e B 14,080 4,266 4,800 4,800 5,000 14
(8) MHEEER
(o) WAXBLIVI=YS \mapemmnmnss BB 757,120 23900 342035| 386500 386500| 3755 30
NEi B2 E BlET 1,353 1,300 1,300 53
(10) SDRICHSHEORREH | 2wy o —mus AT 41914 15000| 15000 26914
11) Zoft EEEBIREEEEIBE (ABEBRE) H 26,579 26,500 26,500 79
SETE81BE ERBZENE = 6,110 6,100 6,100 10
N5t — — 1,310,251 78,260 628,107 567,600 567,600 83860 27424
é?Bj@ﬁi@Iﬁ}%’fﬁEﬂ%E%%U%ﬁ — — 41,914 (0] (0] 15,000 15,000 (6] 26,914
EEEID — — (0] (0] (0] (6] (0] (0] O
A——CREE
TO—RAY KR
INEF — — (6] O (6] O (6] (6] O
e - - 5 N o N ° N o
HEWID — — (6] O (6] O (6] (6] O
IR, % (1)
B8 PEEEEEEE (BIREL=100m L) BT 50,000 50000| 50,000
TREREEEE CEBIRERENNEFD BT 8426 8400| 8400 26
HABREBRORNEEE (D)
 AROEHOSRERS s
- FOWEBE HHm@st
- O EDIBER  L=5m BlET 42,000 21,529 20,400 20,400 71
- BB4SR128 L-20m
- BEWEBE L-24m
cZ/NN1SHE L=5m
- #B3s’/ L-20m
AR BRREERRER AT 31,200 31200| 31200
BO&LD BIEXA YT T REE BlET 242,825 135625 107,200 107,200
2ot
(2) mE
(3) #@
(4) msmms
(5) BaEmRs
(6) BBEs
(7) ERER
(8) BREREWHS
(o) BEOHSHNRRST)
N5t — — 374,451 157,154 O 217,200 217,200 (6] 97
e - - o o o o o N o
BEREUD — — (0] O (0] O (6] O O

1/3




RIBPR
BRE =N BENE BRI | EEERE EELHE | HEEREte 7518 ZOMERR — g
AR BRI
5 CERBOREE (1) Kb
[BEEYSE] BEZKESE (B Als 44913 37,000 18,500 7913
BSZKESE (R Als 23463 7,000 11,200 5,600 5,263
(2) TmEES
AR TAGERER () B AT 20500 20500| 10200
(3) pERMILEIE
CHE R D=V - MRERENEE Al 22550 22500\ 22500 50
LRI
o J— AL
(4) NFEH RISHIBIERERBE NEEZEAS 7,696 7,600 7,600 96
(5) e ARENEEEASE BIEHIES 6453 6400 6400 53
TR IAOK I BIEHIES 4902 4900| 4900 2
(&) nEEes
7y BRSNS
(=
8 zoft
5t — — 180477 7,000 0] 110,100 75,700 0O 0 13,377
(BRI - - 5 o 0 N 5 N 5 o
BREID - — 0 O 0 O 0] 0O 0 (0]
(1) REWLHER
6 TETREOER,
ABESORRROBIL RE
DRLRUIEE
(2) WeCet®
@ BEEBILESR
EAR—L RIS AR — ABRARER it 1547 900 900 620 27
Zof
(4) NESAREES
(5) BEEBILIER ML ENSE Y5 — B AT 8690 8600 8600 %0
(6) BFBULHR
(7 mENRREY Y -RUSF
EREZEEYY—
(g, BEIUEHHNERR
(5
REE FECERUESE AlgH 27,451 20,000 20,000 7,451
BHE - BESEL
(9 zof
5 — — 37,688 0] 0 29,500 29,500 620 0] 7,568]
§§)5 SERMESRGRRGHER — — 27,451 0] 0 20,000 20,000 0O 0] 7,451
BRBID — — 0 0] 0 O 0] 0O 0] 0O
7 ERO®R (1) s
(2) EEERRCREDRGE
() BERIBESHENTRES
e
4) zoft
N E — — 0 0O 0 0O 0] (0] 0 O
[SBERBHRHH ARSI R - - 5 o o N o N N o
BRBID — — 0 0] 0 O 0] 0] 0] 0O
le xEora (1) ShsEEnES
S SRR ABTH 7,002 7000 7000 2
FRIERRBAESZIGREE Alg 74,110 24174 49,800 49,800 136
KET—)L
R
(2) witE
(3) wRbER. EHES
REREE NRREEFEII 2T 1 ERWESBE Algm 3,509 3,500 3,500 9
s NS> 5 — RSB R Al 473 400 400 73
i MEREECIHRERSEE Al 149,104 74016 75,000 75,000 88
B
Zof
(1) BESEHEHRRR
(5
(5) zof
5t - - 234,198 98,190 O 135700 135700 0 o] 308
JELE - - o o o o o o o o
oSS vkl - - o] 0] o] 0] 0] 0] 0] 0




EHRMER

BRE =N BENE BRI | EEERE EELHE | HEEREte 7518 ZOMERR — g
BIRE HRMS
lo s2oun (1) BRIEEEEEEL
(o) BRSNS
w2
(3 zofs
gt — — 0 0] 0 O 0 0O 0 0O
e - - 5 o 5 o 5 o o o
BEEID - — 0 0] 0 (0] 0 O 0 O
10 SRR (1) iR
BEXICRRIERS  |XlcRmmRREER AT 6490 6400 6400 %0
(o BEESHRNAREE
w2
IS bR IS LRI S 2 AlsT 50,561 23,000 23,000 27,561
3) 2oty
5t — — 57,051 0] 0 29,400 29,400 O 0 27,651
ﬁg)ﬁﬁi@ﬁi@ﬁ%ﬁﬂ’ﬂ%@ﬁ%ﬂ%% — — 50,561 0O 0 23,000 23,000 O 0 27,561
BEEID - — 0 0] 0 (0] 0 O 0 0O
T BEGEIRLT—| (4, BLIIELILF—A8
DRROIEE b
(o) BRSNS
=
(3 zof
B — — 0 O 0 0O 0] 0O 0 0O
et - - 5 o 5 5 5 o 5 o
BREID - — 0 O 0 (0] 0] 0O 0] 0O
12 OB BBOREL
HEICHUNELSE
B — — 0 O 0 0O 0] 0O 0] 0O
et - - 5 o 5 5 5 o 5 o
BRBID - — 0 O 0 O 0] 0O 0 0O
o 5t — — 2,144,116 340,604 628,107] 1,089,500] 1,055,100 9,480 0] 76,425
(OB BRIEFRHTINRRISRIBED) — — 119,926 0O 0 58,000 58,000 0O 0] 61,926
BEBID — — 0 0O 0 0O 0] 0O 0] 0O

3/3




